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WIEE TH6EE MMM ERMER RS

% g R - KSR Bifr B 2 B i & B W =
BRI 9,806,400 + 284,568 10, 090, 968
BEEAGE 9, 806, 400
BE#RE 284, 568
T DR 9,806,400 x 42.86% ( 30% + (1 — 30% ) ) 4,203,023
BRI 10,090, 968 + 4, 203, 023 14,293, 991
—REEES 14,293,991 x 53.85% ( 35% + (1 — 35%) ) — 1,305 7,696, 009
KBS 14,293,991 + 7,696, 009 21,990, 000
HETREALE 21,990,000 x 10.00% 2,199, 000
EBEREN 21,990,000 + 2,199, 000 24,189, 000
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% R B - RRSTiE BfL % B B ff ® # m o=
E R 10, 090, 968
MARAE IR T & HHE R R TS 10, 090, 968
MARAE IR T & e R R TS 10, 090, 968
EEAGE 9, 806, 400
BT MR R 9, 464, 400
1 R EMERES (1) 12.00 39, 900 478, 800
A
2 B ERMERER (2) 12.00 748, 800 8,985, 600
A
&€ 285, 000
3 HTEHE 10. 00 28, 500 285, 000
=]
& - mE 57,000
4 13 - WE 2.00 28, 500 57, 000
=]
E#EEE 284,568
EHRARE 89, 856
5 EHRARE 1.00 89, 856 89, 856
=
BEERERRE 179, 712
6 BEMERREE 1.00 179,712 179,712
=
EBRERE 15, 000
1 £BHERE 1.00 15, 000 15, 000
=
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&5 1
£ BiTERMERES (1) 1A&4Y
2 b g - BIRTE By = BHO(f %8 # i
TEEMNE HEm (A)
A 0.70 57,000. 00 39, 900
& Hi 1E%HED - 1.008 39, 900. 00 39, 900
&5 .2
£ HEiTERMERES (2) 1A&4Y
2 b g - BIRTE By = BHO(f %8 # i
e e HEm (C)
A 19. 50 38, 400. 00 748, 800
& Hi 1E%8EH : 1.00R 748, 800. 00 748, 800
5.3
&% TAEE HEED)
2 b g - BIRTE By = BHO(f %8 # i
TEEMNE HEm (A)
A 0.50 57, 000. 00 28, 500
& Hi {EZ8ER - 1.00mE 28, 500. 00 28, 500
Hz5:4
215 HEE - |mE HEED)
2 b g - BIRTE By = BHoO(f %8 # i
TEEMNE HEm (A)
A 0.50 57, 000. 00 28, 500
& Hi 1YEZHEH - 1.00[E 28, 500. 00 28, 500
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F5 .5
&% EHARE 1LY
2 b g - BIRTE By = B O ® # " =
EXERARE
= 1.00 89, 856. 00 89, 856
& Hi 1YE%HeRH 1,00 89, 856. 00 89, 856
ES .6
2% EERERRE 1LY
2 b g - BIRTE By = B O ® # " =
BERERAM
= 1.00 179,712.00 179, 7112
& Hi 1E%HeH - 1.00K 179,712.00 179, 7112
&5 .1
2% EBHRERE 1LY
2 b g - BIRTE By = B O ® # " =
EBHRERERE
= 1.00 15, 000. 00 15, 000
& Hi 1E%HeH - 1.00K 15, 000. 00 15, 000




